restart
Ecua = (x +y2) —2xyy=0

Ecua :=x —l—y(x)2 —2xy(x) (% y(x))

|
o

with(DEtools) :

odeadvisor(Ecua)
[ [ _homogeneous, class G], rational, Bernoulli]

FI == intfactor(Ecua)

1
FI = —2
X
EcuaDos = expand(FI-Ecua)
d
2 2y(x) (-——‘y(x))
EcuaDos := L + y();) — dx =0

X X X

odeadvisor( EcuaDos)
[[_homogeneous, class G), exact, rational, Bernoulli]

1 2
MM = —+%
X

X
1 2
MM = — + %
X X
NN:=—2—
X
NN = - 2L
X

IMMx = int(MM, x)
2
IMMyx = In(x) — <
X

SolGral == IMMx + int( (NN — diff (IMMx, y)),y) = CI
2

SolGral =In(x) — y7 = CI

restart
Ecuacion = (2-x-y2 -3 -y3) +(7-3 'x'yz) y'=0

Ecuacion = 2xy(x)2 — 3y()c)3 + (7 -3 xy(x)z) (% y(x))

with(DEtools) :

odeadvisor( Ecuacion)
[ rational]

FI = intfactor(Ecuacion)

Faclnt :== Lz
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Faclnt .= Lz

y
EcuacionDos := expand(FI-Ecuacion)
d
7 (:ig.y(X)) d
EcuacionDos =2 x —3 y(x) + > -3 (—y(x)) X
y(x) dx

odeadvisor(EcuacionDos)
[ _exact, rational]

MM:=2x—-3y

MM=2x—3y
NN = 7—2 —3x
Y
NN:=l2 —3x
y

INNy := int(NN, y)
INNy = . —3xy
y

SolucionGeneral == INNy + int( (MM — diff (INNy, x) ),x) = _CI
SolucionGeneral := - % —3xy+ X = CI

restart
Ecua = (x2 -|-y2 +1) —2-x-py'=0

Ecua :=x2+y(x)2+l —2xy(x) (%y(x)) =0

with(DEtools) :

odeadvisor(Ecua)
[ _rational, Bernoulli]

FI = intfactor(Ecua)

1
FI = —
X
EcuaDos = expand(FI-Ecua)
v (g v )
5 a4
EcuaDos:II-l-‘(&z)—i-%— dx =0
X X X

odeadvisor(EcuaDos)
[ _exact, rational, Bernoulli]

2
=1+ + L
X X

2
mm=1+2 4+ L
X X

NN = — 2
X
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NN = - 22 (26)

(> IMMx = int(MM, x)

2
MMy =x— 2 — L 27
B X X
> SolGral = IMMx + int( (NN — diff (IMMx, y)),y) = ClI
2
SolGral =x— 2~ — L = ¢y (28)
X X

=> restart
>




